Suppose we have a hypothetical sample of 10000 randomly selected people then assuming 2% have schizophrenia, 95% correct detection of schizophrenia and 97% correct detection of normal people we can construct the frequency tree below: 

         Sample N=10000


200 Schizophrenics            9800 Normals

   190             10                  9506           294 
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P (Normal given an (incorrect) positive test result) 


= proportion of positive test results which are from normals


= 294/(294+190) * 100 = 61%    





So 61% of positive results from the test are incorrect!








